New Maths GCSE: N8 - Multiplying and Dividing Fractions
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Correct Answer: ABCD

Explanation:

Aikong spent 2 of his time studying science. He spent : as much time sludying English as

science. What fraction of Alkong's study time was spent studying Englisn?

Correct Answer: ABCD

Gall has a rectanguiar rug. The diagram below shows the dimensians of Gail's rug . .
Explanation:

Gail's Rug

What is the area of Gall's rug?

A 7: squara feet
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|sé square fest

Correct Answer: ABCD
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Which of these is a correct step in solving the following: Correct Answer: ABCD
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What does this equal, giving your answer as simply as
possible?

What does this equal, giving your answer as simply as

possible?

What does this equal?

% B 6
2 2
B 5 g 3

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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